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Chapter 4: Mixed operations

Let’s do exercise together.

Please write dowwn the correct answer.
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205% 426 m
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5029 2107
4019 1429 2594
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Please circle the correct answer.
1. 2019 — 201 + 39 =
A 3047 b.23332 . 241 d. 34006

2.1029 + 4092 - 292 + 299 =
2.502% .52 .57 d 4917

2. 2027 -10329 + 4941 + 920 - 5% - 111 =
a. 2144 b. 3057 . 3020 d. 361

4.949949 - 2470 - 4017 + 55 =
a.255a0 b, 2659 ¢ 2759 d. 29549

520672 + 6D -145% + 542 - 1159 =
a6 b A216 ¢ 1215 d. 2216

@. 2902 + 1000 - 6923 =
a.2055  b.3155 €. 3005 d. 4055

7,065 + 7777 - 144 =
2.9450  b.®205 ¢ 2005 d 2445
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?. 4020 - 1960 + &% =
A 22006 L. A6L ¢ 2166 4. 2016

a.242% -193 + 5249 =
a.0%2  b.Ap33 . 044 4. N33

10. 6565 -1022 + 2210 - 529 +1029 =
a.942%  b. o044 . 5243  d 2000

Please write doww the correct answer.

1. 9075 - 7@ + 205 + 32 =

2. 206 +1029 + 1029 - 2972 =

2.293%% - 509 +1092 =

4. AFOF - 5555 + 2090 - 1924 + 333 =

5.29%27F + 1949 - 66l - 233 =

b. 7654 - 567 + 2424 - 9% - 50 =

7.529% + 0074 - 1937 + 2333 =

©. 4040 - 2911 +3200 =

a. 6632 + 1122 - 2760 =

10. 4543 -1093 =
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Please write doww the correct answer.

1. 4059 - 944 + 1934 =

>

2.049% - 2493 + 392 -49 =

2.750% - 244 - 59272 =

4.3055 + 729 - 1212 =

5.5454 +123% - 29 - 4eq =

@. 5001 + 492 — 2029 =

>

7.2902 - 293 + 1920 +294 +294

- 507 = >

©. A163 - 2042 - 1144 + 593 =

>

A.02F + 4425 - 1659 =

>

10. 6417 - 24957 + 75 =

>

Please write doww the correct answer.

1.3037 -193 + 3020 - 291® = <

2. 7777 - 3333 + 1616 - 22 =

2. G0AD - 1949 - (A2 + 2402 = <

4. 4930 - 2048 +1020 = <

5.2027 -193 + 442 - 2222 = {
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Please write doww the correct answer.

1.3040 - 203 + 5027 = | ]

2.502% - 50 + 528 - 1212 = | ]

3.3827 -144 - 1937 +50 = | ]

4. 7064 - 2058 - 208 + 2323 = | |

5. ©294 - 6356 + 4040 = |

6. 4040 - 1940 + 2020 - 86 = | |

7,976 - 6026 + 56 - 295 = | ]

®. 6099 - 2957 - ¢4 + BB 3450 = | |

4. 4029 - 2222 +555 = ]

10. 5362 + 496 + 2% - 3333 = | ]

M. 4950 +1725 -2 = | |

12. 3366 +100% - 564 = | ]

13.12.+ 7626 500 = | |

14, 613 + 6429 - 2000 = | ]
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Please circle the correct answer.
1.506206 — 2424 + 562 =
a.2329%4 b, 2344 . 2044 4. 2995

2.9257 - 2049 - 927 + 2332 =
a. 025 b eAD5 ¢ 6B05  d. 509

2. 027 +55+145%6 + 1% -14 =
a. 3350 b, 23524 ¢, 35403 d 3533

4.502F - 2099 + 55 =
2.20%2 b. 3024 . 23505  d 29506

5.5092 -5027F +12 + 4006 - 343 =
A 2F20 V. 22FF . 220F 42270

. 057 + 2040 - 194 =
a.2422  b.2411 .24 d. 3400
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